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v E&[E17% (confusion matrix)
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1 (Positive, &%)

-1 (Negative, 24%)

=B | 1 (Positive, B31%)

True Positive (TP) | False Negative (FN)

U3A | -1 (Negative, [21%) | False Positive (FP) | True Negative (TN)
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v iE&lE17% (confusion matrix)
TAIENISA
1 (Positive, %) | -1 (Negative, 2%)
E=r=n | 1 (Positive, BE1) 45 5
73X | -1 (Negative, &%) 20 50
B 45 + 50 45
IEfRR = =0.79 1&RHEX = = 0.90
454+5+4+20+50 45 + 5
. 45 o
BE = = 0.69 AR = = 0.29
45 + 20 20 + 50
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http://en.wikipedia.org/wiki/Cohen%?27s kappa
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1 (Positive, BZ1%) | -1 (Negative, [21%)
=R | 1 (Positive, I51%) | True Positive (TP) | False Negative (FN)
72X | -1 (Negative, f&%) | False Positive (FP) | True Negative (TN)




